CS 271Computer Architecture and Assembly Language

Self-Check for Lecture #4 NOTE: You cannot emp Hemory to memory. At least
one of the operands must be a register or a constant.

Solutions

Solve each problem using the following data segment: - fdi .
.data S
mow edx, OFFS3ET a
DWORD ? call WriteString

DWORD ? jmp theEnd
DWORD ? trus:

NN X B R

DWORD ? o y=s
DWORD ? theEnd:
yes BYTE “Yes”, O
no  BYTE “No”, 0 = -
maybe BYTE “Maybe” ,0 -
Assume that variables have been initialized. o ves
Write MASM code to implement the following £E t “te

high-level pseudo-code decision structures. .
1. B edx, OFFSET mavbke
if (k < n) call

print (yes); ‘_: theEnd
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trus Z:
else _ mov  edx, OFFSET nco
print (no); call WriteString
theEnd:

2 ' maw

' no zax, x

if (k < n) J— e, v
print (maybe) ; ige fals

else isx; z

if (k > n)
print (no) ;

Mo ves

else eall Writ

print (yes); P SRR TRsERS

3. tl’.aE:’.:lh:_h__
if ((x < y) AND (y < z)) p

print (yes); a mov  esax, x
else I eax, v

print (no); _ mrus

H_ =

4. :l:—f_'_ W i
if ((x < y) OR (x > z)) o Tmp BheEnc

print (no); P movw  =dx, OFFIET ne
else call Writs3tring

print (maybe) ; theEnd:




